Seat No.: Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY
DIPLOMA ENGINEERING - SEMESTER-IV « EXAMINATION - WINTER - 2016

Subject Code: 3341101 Date: 17- 11-2016
Subject Name: Microprocessor assembly language programming
Time: 02:30 PM TO 05:00 PM Total Marks: 70

Instructions:

Attempt all questions.

Make Suitable assumptions wherever necessary.

Figures to the right indicate full marks.

Use of programmable & Communication aids are strictly prohibited.
Use of only simple calculator is permitted in Mathematics.

English version is authentic.
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Q.1 Answer any seven out of ten. €2HIl SlEURL Alclotl cllol WL, 14
ys q 1. Writesize of data bus. Why it is bidirectional?

. del eell AT AWl A 2l HIZ B-SIRR A Sl B?

2. Why do we require to demuliplex multiplexed address/data bus.Which signal
is used to demuliplex it?

2. HAEIAsSRS AJu/32l sl SIHAEIWAsY s2cllofl %32 a He ud

8753 Roctct dal SIHAEIASY sl HIZ dURlU B?

3. (a8)INR & DCR instruction affect all flag except flag(b)When
Instruction RST 5 is executed programme control is transferred to
memory location

3. (W) INR 3ol DCR o250l SQOL Rclal il $ARLA WU 2
8. (M)UR Bo5Uot RST 50f A5 5ot AU & AR UaUMa s

AU AB2Aol UR 2logR Al B,

4. Instruction ADC C adds the content of , &
and store result in

¥. 8gsdsl ADCC , U Aol s3lal

yFeun Ui R 52 B.

Form delay subroutine using register pair.

(@22 Vel GUAL 53la SlA AR Elet olotlal.
Compare SPHL & PCHL instructions.

SPHL o PCHL 8og 5ol AWML,

What is the function of W & Z register?

W & Z %9eR0ll 812l cull.

What is the use of BSR mode in IC 8255?

IC 825541 BSR Hlsall Gullol 9 &2

How many maximum input devices can be connected to 8085
microprocessor? Why?

8085 MIBS\UAMR WA ayHl ay dedl setye Sausflu sase s3l

AsLA? AL HIL?
Specify the contents of register A & status of flags after executions of
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following instructions
MVI A,F8H
ADI 69H

o(lAoll Yor2s2lol AsAsgye Ul Ul W2 A dall SAdML 520 dal

83 d Al

MVI A,F8H
ADI 69H

List 8-bit & 16-bit registers of 8085 microprocessor. Write function of any
one 16-bit register.

8085 HIE5\UAURel 8-0lle daul 16-6{le 2992 R0ll ollH Aull. 518 UL

As 16-olle W20 st cvll.

OR
Draw & give the function of ALU

ALU €Rl Aal doj st cul.

Classify the instruction set of 8085 microprocessor according to number of
bytes required to store instruction in memory with one example for each one.

g 52lolal AHIML RAR sall HI2 33 ool Avallal AR
8085 MBS\ UAU 82520l A2e] cAd([s0L 5A.€350] A5 GEISAU

AW,

OR
clock pulses.(2)Time required to
(3)Memory read cycle consists

(1)One T-state is equal to
execute an instruction is called

of T-state.

(V)AUS T-e2 ORIOR sclls UL (R)Us Borgsalolal Asdilsye

scll U2 ALLAL AHAA sdalal (3) AHIl s Assa
T2 URpAAD.

Draw symbolic notation for following instructions(1) CMC (2) JMP F6F6H
(3) INO7H (4) SBBB

{lAcll Borzs2et M2 RS A2t AVL.(1) CMC () IMP F6F6H

(3) INO7H (¥) SBB B

OR
Write a programme to add content of memory location 3060H & 3061H.Store
result in register E.

A3l AFAot 3060H AR 3061H Hi ¥ S2lall URAM $.Aqj o

R E Hl LR $3L
Compare memory mapped I/O & 1/0 mapped 1/0
AHI| AL WU Aol BB ALS WSl AWML,

OR
Explain basic concepts of memory interfacing

AU Soe¥Aolell AAls vl UHostAll.

Draw & explain flag register
SAOL 2R ERL Wl Aqf sl AMasal.
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OR
Write status of flags affected after execution of following instructions
(1)INX B (2)RAL (3)CP 3070H

ol Aol Bor2s2lol AsAsgye Ul ULl WARSAl $A0] R2U AVl

(1)INX B (R)RAL(3)CP 3070H

Explain the function of following pins of 8085 microprocessor
(1)Reset(2)Ready(3)Hold

8085 HIBSIURAUR(| o{lAe{l Aototl 51201 AV (2)Reset(2)Ready(3 )Hold

OR
What is interrupt? Classify it. List interrupts related pins of 8085
MICroprocessor.

8o 9 8?7 dof cdlsWL 5A. 8085 MBS UAU.A| Bo21e AU

AsnAA Qotatl ollH AVl

Draw timing diagram of following instruction
2040H :MOV D,C

o{lAcll Bor2satall 2Le(oL staaUH €12

2040H :MOV D,C
OR

Define(1)Timing diagram(2)Machine cycle(3)T-state(4)Architecture
callull . (1) 2tesol stauauH () Hallet ARUSA (3) T-2 (¥)

w(SS5AUR

What will be the content of accumulator & carry flag after execution of
following each instruction?

MVI A,80H

XRA A

RAR

RRC

o(lAoll €35 Borgsalat Wssfe daul Ul YR A dal 33| sAowl

sl Sel 89 ad Al

MVI A,80H
XRA A
RAR
RRC
OR
Write a programme to count from 0 to 9 with 1 second time delay between
each count repeatedly.

A sAs 51Goe A A5 Asosall 2l SIA W@ Ad 0 &l ¢ of Add
51Go2 $cll 51Go2R0ll UloUH AW,

Draw block diagram of 1C8255
1C825501l 6clls SLALUH ERL.

OR
Draw circuit diagram of LED interfacing with 8085 microprocessor.

8085 HIB85\UlAUR{l WA LED o258 s2clloll SIRUUH ELRL.

What is stack? How data is stored & retrieve from it? List instructions used
with stack operation
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Q.5
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w5 9 8?7 Aul 3al 3l Al RR ua Jasd w 8? Rs U6t

AU AsURAA Qotoll oltd W,

OR
Compare(1)RET & RPO(2)JMP FOOOH & CALL FO0OH

qRullll. (1)RET & RPO(2)JMP FOOOH & CALL FOOOH
Explain looping, counting, indexing & decision making techniques in brief.

(U0, 51Ge2la, 8ods{lol et Sllloset Aol 256{ls sl UM
Compare following instructions(1)STA 3000HV& STAX B
(2)RAL & RLC
o{lAe{l B2 5ot UHVUA(T)STA 3000HV el STAX B
(R)RAL 4o RLC
Explain the functions of following pins (1)SID (2)ALE (3)I0/M (4)HLDA
oflAell Wotelt 5121 cWl. (1)SID (R)ALE (3)IO/M (¥)HLDA
Why PC & SP are 16-bit registers?
PC ol SP all H(2 16-6{laall A2 Sl B?
What happens when interrupt pin of 8085 microprocessor receive interrupt?
8085 MB5\UAM{l 8ozt Ulol UR 8ol HAAl 9 Al B?
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